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Question 1: 

 

Factorise the following expression; 

 
3𝑡2 − 𝑡 − 10 

 

 

 

 

E+F 1∙2b Gold Outcome 3 

 

Question 2: 

 

The temperature increases by  

4·2% per hour.  

 

The original temperature was 19°C.  

 

What was the temperature after  

2 hours? 
 

APP 1∙3a Silver Outcome 2 

 

Question 3: 
 

Multiply out the following brackets and 

collect like terms; 
 

(𝑥 − 6)(𝑥2 + 8𝑥 + 1) 
 

 

E+F 1∙2a Silver Outcome 3 

 

Question 4: 

 

Solve the following equation; 

 

 
 

REL 1∙1c Gold Outcome 1 

 

Question 5:  

 

Change the subject of the formula to 𝑇. 

 

 
 
 

 

 

 

 

REL 1∙1e Silver Outcome 2 

 

 

My score: 
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Exam Questions  
Question 1: 
 

 

APP 1∙3b Gold Outcome 3 

 

 

 

 

 

Question 2: 
 

 
 
 
 

REL 1∙1c Gold Outcome 1 

 

Question 3: 
 

 

E+F 1∙4b Silver Outcome 1 

 

 

 

 

Question 4: 

 

 
 

 
 

E+F 1∙1a Silver Outcome 1 

 

Question 5: 
 

 

You’re on your own! 

 

 

 

 

 
 

My score: 
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